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Fasit

Oppg 1 zk = ei(π
2
+k 2π

3
), k = 0, 1, 2

Oppg 2 a) y = (2 − e−x) cos x

b) y = 2ex − 2x − 1

c) y = C1e
−x + C2xe−x + xe−x ln x

Oppg 3 a) y = 0.01
k−0.25m

(
cos(0.5t) − cos

(√
k
m

t
))

b) k = 0.36

Oppg 4 a) Null(A) = span{(−11, 4, 1, 0), (−11, 3, 0, 1)} (f.eks)
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b) Col(A) = span{(1, 1, 2), (2, 5, 5)} (f.eks)
Row(A) = span{(1, 0, 11, 4), (0, 1,−4,−3)} (f.eks)
Row(A)⊥ = span{(−11, 4, 1, 0), (−11, 3, 0, 1)} (f.eks)

Oppg 5 a) λ = 1 ± a
To lineært uavhengige egenvektorer n̊ar a 6= 0.

b) a 6= 0 : y = C1e
(1+a)t
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Oppg 6 a) P =
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b) M = 1
4
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
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Ja, det er 8 muligheter for M.


